'STANLEY

Access Technologies

Dura-Max 5400 mm:.mm Door System (Header)

=
2

Stanley Access Technologies
65 Scott Swamp Farmington, CT 06032 (
www.stanleyacc.  com e 1-800-7ACCESS ,




REF #PART DESCRIPTION
*Must specify length and finish, and machining if necessary

R e e 5 v () S5 HEADER, UPPER
2 L S O R COVER
Sl N 91 35 END PLATE BRACKET-HEADER-RH
4 SO e ....191118-1 END PLATE BRACKET-HEADER-LH
B 97931809 MOTOR & GEARBOX ASSY
ba...... SR ....714537-1 BALL BEARING SLIDE AND TRACK ( 81” or less HEADER LENGTH)
6b:i i MR .714537-2 BALL BEARING SLIDE AND TRACK ( 81” + HEADER LENGTH])
VMo G Wl G ) IDLER ASSY
Bt Ul e LA 711450 BELT-TIMING-3/4", LONG LENGTH
O R A 093 BLOCK ADJUSTMENT-IDLER PULLEY
RO L L S 210 B BELT BRACKET ASSY-LONG
Rl e S B 0 2 BELT BRACKET ASSY-SHORT
12°00. Rt e reneneen. 417029 PLATE-LOCKING-HEADER
1300 5T PIVOT ASSY-HEADER-LH
AQ5 ol R 517117-2 PIVOT ASSY-HEADER-RH
A5 L L A7.066 DOOR HOLDER ASSY
116 S e T 282/ DETENT-BALL-SPRG LOADED-SO
A7 N ] R 50D MC521 CONTROLLER
A ..714531 SCREW-FLAT HEAD M4 X 10MM
............. ..417218 ADAPTER PLATE

............ 714535 SCREW-FLAT HEAD M3 X 8MM

e 517086 * HEADER, LOWER BREAKOUT, RH

v, 517086 * HEADER, LOWER BREAKOUT, LH

....515365 HOLDING BEAM-DOORWAY-OPTEX

..713082
e 713081

......... 711463
s ] 713869

SWITCH-ROCKER AUTO/CLS/QPEN
SWITCH-ROCKER POWER W/LIGHT
MAGNETIC ALARM/BREAKOUT SWITCH SET
WIZARD Il SENSOR

Stanley Access Technologies
65 Scatt Swamp mo% “armington, CT 060323
www.stanleyacce. am e 1-800-7ACCESS

Dura-Max 5400 Series Header Replacement Parls List




s

Dura-Max 5400 Series Door System (Panels)

63,

=4

Stanley Access Technologies :
65 Scott Swamp R Farmington, CT 06032 «
www.stanleyact....com e 1-800-7ACCESS




REF #PART

| Dura-Max mnco_ Series Panel Replacement Parts List

DESCRIPTION REF #PART DESCRIPTION

*Must specify length and finish *Must specify length and finish

30, 714392 STANDOFF, MALE TO FEMALE, #10-32 X %" 53 L AT 061 TIMING BELT, 1/5” PITCH 3/8” WIDE
3 ....417179-09600 SWEEP HOLDER-BOTTOM-SO / SX FAST maﬁ.\omo BRACKET-TIMING BELT-LOWER
3285 ..5M7101-17500 BOTTOM GUIDE, SWEEP HOLDER-EXTRUSION T 2] BRACKET-TIMING BELT
33........0......710739-12000 BRUSH, BOTTOM SWEEP-SX SLOW 56 Lo e AR 057 CLAMP-TIMING BELT 1/5” PITCH-MACHINED
Fq e 708950 PIVOT-BOTTOM-SO PANEL 570 73363 TIMING PULLEY, 1/5” PITCH
3G el i 380273499 NUT-HEX-JAM- 7/16 - 20 58l i ....714443 SCREW-SHC % X % #10-32
36 L A17.035 PIVOT BASE-JAMB MOUNTED-MACHINED Bt e 417047 BOTTOM PIVOT ASSY
37 S A 049 MOUNTING BLCOK-BOTTOM GUIDE 600 ..709221 THUMBTURN LOCK-CLEAR
38alv i o ....417024-1 BOTTOM GUIDE ASSY-LH 60b. .709647 THUMBTURN LOCK-BLACK

............ 417024-2 BOTTOM GUIDE ASSY-RH 81 .. ... . Tanamy WASHER 13/64 ID, % OD

382012499 WASHER-PLAIN-7/32 ID X % OD 62 (not shown).....417028 VINYL-GLAZING CUSTOM

..714539 SCREW-HHC #10-24 X % W/PATCH 63l e L JAMB-RH

e mon g BUSHING-5/16 OD X 11/32L. 192 ID S ol S JAMB-LH

...................... 517107-1 ESCUCHION PLATE, LOCK 650 190087 PANEL ASSY-LH-SO

e istanng OFFSET LINKAGE ARM, MORTISE LOCK 62191088 PANEL ASSY-LH-SLOW

e LA T 069 ATTACHMENT PIN, LINKAGE ARM 671 G 191089 PANEL ASSY-LH-FAST

450 e 417055 BACKING PLATE, LOCK CYLINDER-FLUSH MNT 68. ...191090 PANEL ASSY-RH-S0

a6 ..714350 LOCK CYLINDER W/IC CORE-MORTISE 69. 191091 PANEL ASSY-RH-SLOW

..... 517107-2 ESCUCHION PLATE, STRIKE 70..c.ccccviiinnnnnn.. 191092 PANEL ASSY-RH-FAST

..417071 LOCKING BAR GUIDE-MACHINED i e oot 714494 LABEL-IN EMEGENCY PUSH TO OPEN

.714335 LOAD WHEEL-TELESCOPIC-2 PC V20 e 709456 LABEL-CAUTION

Lol S B NUT-SPRING PLUNGER Pl 410796 LABEL-CAUTION AUTO DOOR
O 1714865 SPRING PLUNGER
52 i ST 1 4408 STANDOFF, #8-32 X .937” TALL

Stanley Access Technologies
( 65 Scott Swamp R¢ Farmington, CT 06032 /\

www.stanleyacc.  om ¢ 1-800-7ACCESS




